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ECO 499 Midterm Exam Spring 2009

1. (10 pts.) How does the legal system establish implicit prices? Give an example.
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. (20 pts.) As rajah of our island, you have decreed a completely centrally planned
economy. You make all production and consumption decisions. Our current output
of coconuts and rabbits is such that you are able to allocate five rabbits and fwenty .
coconuts to each person each month. Being a benevolent ruler, you ask us how we
like that arrangement. One person, known only as A, speaks up and declares that at
her current rates of consumption she would be willing to trade two rabbits to get one
more coconut per month, Someone else, known only as B, lets it be known that at his
current rates of consumption, he would be willing to trade three coconuts to get one
more rabbit per month. All of your loyal subjects look at you to see how you will
respond Als the current allocation Pareto optimal? Ilustrate A’s and B’s current
sitnations in the diagrams below, drawi indifference curve for each of them that

reflects their current situations and marginal rates of substitution. If you think there is
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3. (20 pts.) One rule for establishing property rights is the rule of first possession. This
rule was applied to buffalo (actually bison) in the United States as the Great Plains
were being settled. The buffalo almost became extinct. A non-native hoofed animal
(cattle) was introduced into the same environment by these settlers, but property
rights were determined differenily. A system of branding was established so that.
ownership of each animal could be clearly determined. Cattle thrived. Use this

o\ example to explain the inefficiency that may result from a rule of first possession.
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4. (20 pts.) The newly formed government of Tajikistan hires you as a consultant to help
them in making the transition from a socialistic command economy to a capitalistic
market economy. Since no system of property rights has existed in the past, you are
asked, “What things can be privately owned, and what things inherently must be

e publicly or commonly owned?” What guidance can you, as an economist, offer?
Specific examples of types of goods might be useful to include in your answer.
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5. (30 pts.) Read the facts of Sturges v. Bridgeman on the attached sheet. Suppose that
the damage suffered by the doctor because of the disruption is $5,000 in lost income
and that the cost to the factory of installing less noisy equipment, moving the existing
equipment, or adjusting its production schedule so as to eliminate the nuisance to the
doctor is $10,000. R e

a) Imagine that Sturges is female, and that Sturges and Bridgeman fall in
love during the trial, and decide to drop the lawsuit and get married. How
do you think that the merged household would manage its combined
businesses?

b) Forget the fairy tale ending imagined in part (a), and instead let’s go back
to the original legal dispute. Suppose the court is swayed by the fact that
Bridgeman had operated a candy factory on the same spot for a long time,
and that Sturges “came to the nuisance.” Suppose the court then rules in
favor of Bridgeman and refuses to grant an injunction or award damages
to Sturges. What will be the ultimate outcome? ' '

¢) Suppose instead that the court considers health care to be a higher calling
than candy-making, and decides in favor of Sturges, granting an injunction
against the operation of the offending equipment by Bridgeman. What
will be the ultimate outcome? ‘
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